The William Penn Building 109 Chesley Drive Media, PA 19063 610-565-2670 Fax 610-565-0178 Tax ID No. 23-1990586

**Edgmont Township** Catherine Ricardo, Township Manager 1000 Gradyville Road Gradyville, PA 19039

September 3, 2019 Bill number KDK-76086

Billed through 08/31/19

Re:

FRIEDMAN RTK REQUESTS/APPEALS

Our File No.: 1106-296

FOR PROFESSIONAL SERVICES RENDERED

08/02/19 Review emails from Township regarding release of unredacted RTK

documents.

**BILLING SUMMARY** 

Rate KDK Kenneth D. Kynett 150.00 0.20 30.00 Total fees for this matter 0.20 \$30.00 **TOTAL CHARGES FOR THIS BILL** \$30.00

The William Penn Building 109 Chesley Drive Media, PA 19063 610-565-2670 Fax 610-565-0178 Tax ID No. 23-1990586

**Edgmont Township** Catherine Ricardo, Township Manager 1000 Gradyville Road Gradyville, PA 19039

February 1, 2019 Bill number KDK-73532

Billed through 01/31/19

Re:

PIPELINE RELATED MATTERS

Our File No. 1106-248

FOR PROFESSIONAL SERVICES RENDERED

01/09/19 Review and respond to emails from Township regarding Friedman

emergency management plan RTK request.

**BILLING SUMMARY** 

	Rate		
KDK Kenneth D. Kynett	150.00	0.20	30.00
Total fees for this matter		0.20	\$30.00
•	TOTAL CHARGES FOR THIS BILL		\$30.00

The William Penn Building 109 Chesley Drive Media, PA 19063 610-565-2670 Fax 610-565-0178 Tax ID No. 23-1990586

Edgmont Township Catherine Ricardo, Township Manager 1000 Gradyville Road Gradyville, PA 19039 July 1, 2019 Bill number KDK-75372

Billed through 06/30/19

Re:

FRIEDMAN RTK REQUESTS/APPEALS

Our File No.: 1106-296

#### FOR PROFESSIONAL SERVICES RENDERED

	FUR	PROFESSIONAL SERV	ICES RENDEREL	,	
06/11/19	Telephone call with Township regarding informal document request from Mr. Friedman; Review email from Township regarding same.				
06/12/19	Review email from Township regarding RTK of Eric Friedman for same material covered by mediation; Telephone call with Township.				
06/14/19	Review email from Township regarding RTK of Eric Friedman for same material covered by mediation.				
06/14/19	Telephone call from Township regarding redundant RTK from Eric Friedman.				
06/17/19	Review email from Township regarding new appeal from already settled prior appeal.				
06/18/19					
06/19/19	Revise Township fact affidavit; Review email from Township; Revise Township fact affidavit; Email to Township.				
06/24/19					
06/27/19					
BILLING SUMMARY					
			Rate		
KDK	Kenneth D. Kynett		150.00	5.10	765.00
Total fees	for this matter			5.10	\$765.00
		TOTAL CHARGES FO	R THIS BILL		\$765.00

The William Penn Building 109 Chesley Drive Media, PA 19063 610-565-2670 Fax 610-565-0178 Tax ID No. 23-1990586

Edgmont Township Catherine Ricardo, Township Manager 1000 Gradyville Road Gradyville, PA 19039

May 2, 2019 Bill number KDK-74848

Billed through 04/30/19

Re:

PIPELINE RELATED MATTERS

Our File No. 1106-248

### FOR PROFESSIONAL SERVICES RENDERED

04/01/19	Telephone call from Township regarding RTK appeal mediation; Review email from Township regarding same.
04/02/19	Review and respond to email from Township regarding Road Bonding and Maintenance Agreement.
04/02/19	Telephone call from Township regarding mediation; Review email from OOR regarding same; Review and respond to email from Township.
04/03/19	Telephone call with Township; Review email from OOR regarding mediation.
04/04/19	Prepare for and attend meeting with Township and OOR mediation conference call.
04/07/19	Review original Friedman RTK request and response against RTK . Law;
04/08/19	Telephone call with Township regarding re-review of original Friedman RTK request and response.
04/09/19	Redact JH Consulting Proposal; Email to Township.
04/16/19	Review email from Township regarding Friedman RTK; Telephone call with Township.
04/24/19	Review email from Township.
04/25/19	Email to Township.
	BILLING SUMMARY
	Rate

KDK	Kenneth D. Kynett	150.00	5.40	810.00
Total fees	for this matter		5.40	\$810.00

The William Penn Building 109 Chesley Drive Media, PA 19063 610-565-2670 Fax 610-565-0178 Tax ID No. 23-1990586

Edgmont Township Catherine Ricardo, Township Manager 1000 Gradyville Road Gradyville, PA 19039

April 2, 2019 Bill number KDK-74503

1.80

\$270.00

\$270.00

Billed through 03/31/19

Total fees for this matter

Re:

PIPELINE RELATED MATTERS

Our File No. 1106-248

#### FOR PROFESSIONAL SERVICES RENDERED

03/07/19	Review email from Township regarding R Friedman; Telephone call with Township; Thornbury Township.	TK follow up from E Telephone call with	ric ·		
03/08/19	Email to Township regarding RTK follow u	up from Eric Friedma	an.		
03/13/19	Review email from Charles Miller, Esquire regarding RTK request discussion at March meeting; Review email from Township, including notice of appeal of RTK denial from the Office of Open Records.				
03/18/19					
03/26/19	Review email from Township regarding O	OR mediation.			
03/27/19					
	BILLING SUMI	MARY			
		Rate			
KDK	Kenneth D. Kynett	150.00	1.80	270.00	

TOTAL CHARGES FOR THIS BILL

The William Penn Building 109 Chesley Drive Media, PA 19063 610-565-2670 Fax 610-565-0178 Tax ID No. 23-1990586

Edgmont Township Catherine Ricardo, Township Manager 1000 Gradyville Road Gradyville, PA 19039

March 4, 2019 Bill number KDK-73911

Billed through 02/28/19

Re:

PIPELINE RELATED MATTERS

Our File No. 1106-248

#### FOR PROFESSIONAL SERVICES RENDERED

02/15/19	Review and respond to emails from Township regarding required response to Friedman RTK request; Draft Exception log; Email to Township.
02/19/19	Telephone call from Township regarding RTK response with redactions.
02/28/19	Email to Township regarding Adelphia Environmental Assessment comment period extension and sample comments.

### **BILLING SUMMARY**

		Rate		
KDK	Kenneth D. Kynett	150.00	1.40	210.00
Total fe	es for this matter		1.40	\$210.00
		TOTAL CHARGES FOR THIS BILL		\$210.00

The William Penn Building 109 Chesley Drive Media, PA 19063 610-565-2670 Fax 610-565-0178 Tax ID No. 23-1990586

Edgmont Township Catherine Ricardo, Township Manager 1000 Gradyville Road Gradyville, PA 19039

August 5, 2019 Bill number KDK-76037

Billed through 07/31/19

Re:

FRIEDMAN RTK REQUESTS/APPEALS

Our File No.: 1106-296

#### FOR PROFESSIONAL SERVICES RENDERED

07/11/19	Review email from Township, including OOR Notice of Determination;
	Telephone call to Township.
07/15/19	Telephone call with Township regarding options to address OOR
	Final Determination.
07/18/19	Prepare for and attend meeting at Township regarding Notice of
	Determination.

#### **BILLING SUMMARY**

	Rate		
KDK Kenneth D. Kynett	150.00	1.20	180.00
Total fees for this matter		1.20	\$180.00
TOTAL CH	HARGES FOR THIS BILL		\$180.00